pS L 5 Titsy S 3/ 5 Tty S E;
W, .
. w - FmEE  s=1:250
E gy
5 8 58
= NO. 0-3. 08 g% T W
D >
- N0.0 T# K
5 NO. 0-3.08 e e HESMER EPERER
3 NO. 0+5.7 I | H O
e NO. 0+0.78 CE N - XEEHR YEEHR IR -1 XEEE YEEAE
d Fe N0 0:2 07 - %L%Lﬁ o~ TA-4 105066. 157 | 102972, 151 8.133 J-1 105110.388 | 103157082
82 N0 0+12.6 ﬁ& icdc (% N TA-5 105083. 841 | 103050, 742 7.907 J-2 105105. 696 | 103142, 674
§* =l T e T-1 104991.239 | 103063. 974 9.022 J-3 105091. 945 | 103103. 526
K me % -2 105011.067 | 103144, 761 8.835 J-4 105072.969 | 103055, 591 R |
A% NO.0+14.7 -3 105025.853 | 103180, 435 8.713
X8 7-3-1 105035. 946 | 103180. 735 8.502
§ T 1-3-2 105053. 151 | 103176. 481 8.51T
2 2 s 7-3-3 105080.398 | 103168, 572 8.591
EC.1 _ sls R -4 105116.081 | 103162, 193 8.270
2 NO.0+19. 49 NO. 0+18.990 R=15.0m 5 32 Kz : : !
10505, NO. 0+ ; ; s |K T - /\/ T-4-1 105104.221 | 103137, 202 8.148 !
& 5 L N 1-5 105096.327 | 103095. 662 7.908
S 2 Xl Ix#e T-5-1 105091.310 | 103086. 027 7.911
b 3 N gle T
I I T K BM 105020.312 | 103181. 828 8.410
g = N
2 a +|N H|& HaE
I \/\ z a rr\c #% N R ER
*n &
a g ] # *
= = IP_| IPRIFMEA 1A R L sL oL 1PRASE & XEEFR YEE£R
g NO.O | 42° 23'16” 11.558 | 105014.977 | 103173.729
® IP.1 | 337° 45°45” | 64° 37'31” | 15000 | 9487 | 2748 | 16.919 | 16.808 | 105023.514 | 103181 521 +
IP.2 | 351° 46'36” | 14° 00'51” | 15000 | 1.844 | 0113 | 3.669 | 54582 | 105039.072 | 103175.160
@ IP.3 | 341° 04'20" | 10° 42'16” | 250.000 | 23.421 1.095 | 46.707 | 23.424 | 105093.093 | 103167.353
o IP.4 | 250° 50'14” | 90° 14'06” 113.839 | 105115.250 | 103159, 755
I EP 105077.882 | 103052, 224
we N |
NO. 2+0. 86 Eo
NO. 2+0. 86 [
%
©
1Y
S
7
)(:,%Zl
%105
*:iﬂ,msl
l’%
)
- M FIEERY OKE - BRE) OXMGISO2VTE, RETELHE
752 &,
® CEERFEAOAYD (PR HEOHETE, FHEILEECED
¢T, BYMFBIE,
SMAERE
33 : S : % TEE R
I3 3 T 3 - " .
W6 © ® ® F % & | EBEYLSBEER =
s El S 2 =
I % & | WHARSENISHEBRRATE Ll il
1
2 THRER BT/ AT SRR / 5
%159
3 '3 3 it ®
. s @ . s © s . ©
& Ly, & & Loy & E & Losigy & MEHRRESEKE
g A g J 7 J g




10. 000

VS=1:50
HS=1:250

MEMETEER 1=218. Om

ATEHET XM

o 8

[=1 o

= ¥
&
S
=l

VCL= 20m VCR= 1308m

= = =

g = S

g g 8

o o o

7 T T

VCL= 20m VCR=2857m

0. 000m

y=

0.017m

0. 006m

0. 000m

_ —_—
< e | <
5 SRS 5
g 5 |S g
g 3 |3 E
9| 9|7 9
5.000 4 EAREN 4
VCL= 20m |VCR=1065m
s
3
1:250
DL=0. 000
() (g
n /Y% S
4 [i5} © Lz %% @
\ =/ gy \ =/
= o = = < =
5 8 5 g e =
P + 8 8 3 S = =
o o o o o o
= - < 2 = = = = =
5 e Q 23 g 88
U] :t o = = o o = oo =
s o om ~eo > = 2 < > = = = = ae o o o =
s g 88 S 25 8 8 2 = 5 3 5 88 2 « g ]
2 m o= SIS 23 5 5383 3 2 s g g 2 23 = & < 2
B B &S s s o S o @ < < s « P < « « «
= S = s = = = = = S = S < <= =
= ] ] ] = 3 3 8 53 8 e °2 I
Wwom oS = Q 8 e = S s 3 8 83 3 s = 8
=l £ £ £ © £ £ £ £ ) oo o £ oo £
s = o= oo = o © o = S = = = o= S S = =
8 & 8s 88 5888 8 8 2 8 8 88 8 8 2 8
& B g 5 S8 28 28 2 8 8 8 2 38 8 == = 8 e 8
B P ss s i s s o s s = s s Ss = s < s
EE =8 I &8 g s 5 g S = s g 3 E
S = == >o = o = 3 E) S 2 = E) EE) S S = =
g8 = 25 R 5833 8 8 3 3 8 838 S ] 2 5
& @ B g8 5 S8 83 228 8 8 E g 3 8 88 2 8 e 3
S o ~o w0 — < — = = o = ~ o~ o oo o o ~ w
= S = = = =
8 8 8 8 8 8
4 ] 8 ] 8 = 8
S = o -~ e _— NN~ D o~ hie © o b <o hie w o b
s Sq S S o oo 2 s e e Sa E s Sa S
75 T T T T 2= T
1P.1 1P.3 1P.4
m %i 1A=79° 02' 27" R =15.000 1P.2 1A=10" 42" 18" R =250. 000 1A=90" 14
119} 693 TL=12.374 1A=28" 25752" R =15.000 CL= 46.710 TL=23.423
SL= 4.445 CL= 7.443 TL= 3.800 SL=1.096
SL=0.474
Z@ - AQISEBY D1+ Ef : +1.50% Ef: AQISBY 21 HEI: -1.50% Z4 : +1.50% Z4 : +1.50% Zf8 : +1.50%
F & & T e 1 T — 1 — _ |
A -1.50% AR -1.50% Ef: AQIZBY DI AR BRBYOG AR RREYOE AR -1.50%

SH4EE
[ 5T R
Box £ | BB SBEBR B R
IO & | AN SRR T il
THRER P/ BT ERET : / 5

# #®

& & it

i

Py TR A% A




ZAEMTE X s=1:30

~_ NO. 9438 —

Y /
\ 5000 400 _

X7z U REREMRE, EREICET

~
\\\\ 500 2000 2000 500 /
\\\ /
\\
~_
S~ B (BEBHETRAY)  {=5on
\\ LR (HEMERE RIS0)  til5en
BB (A Y P REME)  t345cm FHER
(18-8-40)
-
~ / B
Il
\\
~
®RE (BEEHEFRIY)  t=ben ~ ‘ ! _
rEBE (BEHBEE RI-30) cn L I S
A E (£ A FREWE)  t=45en S~
7@ ~
2R S EE [ER
/ (RC-40) o (RAL)
/ ~_
/ \\\\
/ \\
\\
// \\\\
~
~
\\\\\
~
~_
~
~
~
~
~
~
R Pr E .
NO. 243 EHERE s=1:10
200 5000 P
500 2000 2000 500 [ i \ =l
& B BETHEASEAM(I3) t= Sen
3| LERE BEMARE R0 t=15
%y b7z VR Kl 2 LR 2 " on
A v F (HDZ40)
|
T RER L
(18-8-25(20))
s 8. 850 ‘
\ """"“‘i:tﬁﬂép\—“‘_,“‘\‘1¥ uEs
o ‘
3
T
g n \
\
E 1 - £E (BEBHE7ZIY)  then
HAL
(RAL) LE®RE (BAMMEBE RN-30)  t=15e
EBR (A PREME)  t=45cm i B (£ A2 bRFENIF)  t=450m

SH4EE
8 & mewER R
Box £ | BB SBEBR B R
I ¥ £ | mELRSHNISREBIATE il
3
THEE | R RETERATE / 5
& 3 & it =
fFImmEEELE AR




10.000

N NO. 2+10.000 _—
. % B f T
\
- & - B E| %%
_ N0t NO. 1 S _ NO.2+10.000 P B<2.5 - -
6H-8.809 E % T S GHB. 704 - 2.5<B<4.0 - -
FH=8. 573 FRES B Ok | B A ~ FHE8. 611 rd B=4.0 - -
B<2.5 - - ] EX2) 1.0
2.5<B<4.0 - - fF £ + T
B=4.0 - - W OE T R
] [EX2) 1.4 [ E2) 0.7 -
E ¥ + T = 1w ) -
5000 W E T E @ & @ 2R ‘WK‘ 0 [Re-40 -
] E=) 0.8 - i m 2 - -
_ E32) 0.3 - W BT
500 2000 ) 2000 500 2 R ‘W1<1 0 Ro-a0 = - R [ &% - 0.07
E@ = E - - IVoU—h am [ - B
W & I FRAI7I)VEBREL 2.85
. _ [l - 0.05 E3] 5.65
avsy—+t e = = WET B o8
FAI7IEEREL = 2.50 #RY R (RELE) 0.50 5.15
. E 5.84
a7 8. 850 ] #ET _ L1 5.84 . )
= : i —150% — BEY R (RELE) 0.50 5.34 il S ORBIBFEREERY .
3|
J—B.AL ‘
1
NO. 0+10. 000 .
%t T N
® T S N
DL=6. 000 B<2.5 - - DL=6. 000 .
25<B<4.0| - -
s B>4.0 - - <
s WAl EXD 1.6 S NO. 2
B X £ T E B t T
NO. 0+10. 000 B2 T E @ | & @ NO.2 FRES % KB K
\ 6H=8. 729 K iE EX) 0.7 - 6H=8.717 B<2.5 - -
FH-8. 508 = T8 0.3 - FH=8. 599 2.55B<4.0 - -
N # R ‘W1<1 0 RC-40 = B=4.0 - -
# @ EE - - ] [£8 1.2
Wﬂ; T % + T
Shy— - - B T E @ | & @
avsy—+ }—ﬂﬁh SRR = ﬁ)ﬁ - 3 81§J i
FRI 7 FRIEL 4.93 = In 03 =
5000 ST [ &E 7.43 5000 2 R (W10 mes = =
i | miE 7.43 % ® 2 - -
500 200 ) 2000 500 hEHR (REME) 0.50 6.93 500 2000 ) 2000 500 W & I
avsy—+ [ - 0.0
- [#5 - -
FAT 7L FREL 2.63
; [ ®E 5.43
4 ‘ T | B 5.43
E | R R (RELE) 0.50 4.93
8.850 : _— 7 8.850
EEH T | p ‘ E——— v 5
(BB (BN o
1 ‘ —] L ‘ .
NO.0
E B+ T
% t BOK | B &
B<2.5 - -
DL=6. 000 2.55B<4.0| - - DL=6. 000
B>4.0 - -
= Al [18 0.6(0.3) g
E G SN s NO. 1+10. 000
N OB T E @ | 5 @ - e
__No.o K E2) 0.6 - NO. 1+10. 000 OBt T
GHEB. 711 - ‘w1<10 Ex) 0.3 - e, 833 & t — %,E %,ﬁ(
FH=8. 700 RC-40 - - FH=8. 586 2 5<Be<
— Em 2 ¥ - - I SB<4.0) - -
BT B=4.0 - -
w5 | 0.3 - ® A EX) 1.2
avsy—+t }7&55 = - ¥ + T
7RI 7 FREL 4.93(0.50) o~ = rﬁ B I 5 o
. 3 5.56(0. 50) — ~ A A =
5000 HET [ ma@ 5.56 (0. 50) 5000 S >~ 2 E ‘w1<1 o % 1 03 | - |
EERA RELE) 0.50 5.06 (0.50) g N Ry - =
500 2000 ) 2000 500 \ \ 2@ % F - -
500 2000 ) 2000 500 T
ER) - =4 (w5 [ - X
- 0 B BIENo. 0-3. 08D KT % R . \ \ A A -
‘ + NN FAT 7L FREL 2.25
P s
| ‘ pen | T 3 5.07
| B - 3 5.07
r 2 BRE R (RELE) 0.50 4.57
g 20850 i b 1.50% et i 50 | |
3 ‘ ' ! ' 3 ‘ 2 = i | |
. L5 \
Il
SMAERE
DL=6. 000 DL=6. 000 I s #R
s B % B | EBEYsSEEER B R
E TOF A | EABERN SREBIATE S
4
THER | WEHH REARETS / 5
3 '3 3 it ®
FEmRRE AR




&

& - &K

7 U RERERR 0
FybTTUR  AREEME vy kTR 136.53m B FIRE W=3. 00y #y kTR 1221 16n
PELR PIRER PARREEE g3
J2x o AEHR L=0.30m L=0.30m 2V REH 1=36.18m L=0. 40m L=0. 40m 2z Y AHH 1=20. 96m
1=3. 86m # %ﬂ T PR
3.08 ; 0. 7qm 6.61 7.49 1.01 447 4.28 1.86 10.00 4 L=2. 60m 6.14 7.45 2.52 4.85
jﬁ % 8.850 8.850
v 8.750
B [ | (@BsonEs
\.8. 750 T&hE3)
3 g (EBBOBER S 3
e IZE&h#3) =
000000000000000000010000000000000000000000000000000000000000000000000000000000000000000000000000000000000000000000000000000000000000000000000000000000000000000000000000000] [0000000000000000000000000000000000000000000000000000000000000000000000000000000000)]
PR PR REE ABRE PAREREE PR
(RC-30) \ /
T RERE s=1:20 M= MIEERE s-1:20 AR ZEMEER s=1:2 ALt |FHEEE o190 \ H— KL= () sei-o
\ S=1:
ErE R (1-1) ¥R (2-2) M E R (1-1) ¥R (2-2) Gr-C-4E
!? ‘1 ’? F E—L 2.3x350x
# e A (88400)
‘ j£ il L 4 M16(6. 8) 420(4.6)
| FybTIVR - o [l 2
| (H=1. 2m) ’Mw:s 02; Eﬁ;ﬁﬁ AT % .
| $60.5x2.3 ES Dy Sl _ *ybITYR P <
ESVE Sk P8 | = _$60.5x2.3 | (H=1. 2m) —  AREME (H=1. 2m) L |
tabs fpre W= om s Ld g
‘ avyy—+t 400 0 | 300 ©
(18-8-25(20)) 200
0 avHy—Fk 00| 300 150 1154 11001200 | P
(18-8-25(20)) : % avsy—+t
_78.850 77&17 8. 850 8.850 8. 850 : 8. 850 (18-8-25(20))
— 2535 i 535 51 8.750 -
&Iy I S il I @ahE) 2
™ T RER | [ Ly | avsy—=+r T URERE | L L ~
3 3 3 (18-8-25(20)) 3 2 avsy—t 2 \ /
T (e825020) 8 X =
ERE eBUR s (18-8-2520)) A A g
g g H000N00000000010044) e 50004006 g COOOONY g | X g (S0
HBRE ARRE SHLELE R HBRE ERRE ShYE LR ERRE HBRE
(RG-30) (RC-30) (RC-30) (RG-30) (RG-30) (RC-30)
200 b 400 b b0 400 bQ b0 300 50 b0 300 b 200
3 3
I I
T URER 1.0m% Y AR AR 1.2y Hi— N l/_)l/)igq'ﬁ(
% B ¥ 2 TR =PI 1.0#%Y BRI 1.0%4Y & b4 B 2
avsy—+t 18-8-25(20) 0.130 m3 & # b5 -4 ®% & £ # b5 4 ®% & avsy—+ 18-8-25(20) 0.110 m3
B —f hE 1.30  m avsy—+t 18-8-25 (20) 0.104  m3 avsy—p 18-8-25 (20) 0.059  m3 B —f E 1100 m
RERE RC-30 =100 0.250  m2 B —fg E 1040  m B — R 0.780  m2 RBRE RG-30 =100 0.250  m
B it I5254b t=10 RgEtE  m2 HEERR RC-30 t=100 0. 250 m2 HERA RC-30 t=100 0.160 m2 Bih# 15354k t=10 BlkEtE  m2
[ ER) EERA—FL—LIE, BMTLERERLSIC\
2YFITITUR s=1:20 TR = P9 (W=3000) s=1:20 FES = P95 (W=1000) s=1:20 BETEORMKERET AL,
BRAF (HZ40) FBAF (HOZ40) FOAvE (HDZ40)
2000 2000 3000 1000
A% t=2.3 wE $38.1x1.6 E
;E ] j; I\ sesznen it
A% t=1.6 S A9
S Ay [SGMHA90)
2ty £=0.8 2-ehmEE t-0.8 2 8 eshox2 3y 1T & ELETEI = W T & 8§
_ I=E 5] L
W t=1.6 00816 MUHmmmﬁﬁ FHONBEEEER/ | | 950.8x1.6
[SGMH490) || ~ _ i 1< | | 38.1x1.6
| CRIRAD) i j: = Bga=d R | iF | H rb %
B = T .. . .| fu]ma T T i Y
S ‘ T En ‘ 2 ‘ i -
s U S I %L 16 I g 060.5x2.3 | || I 8 SH4EE
2 i 2 R L 24 3 8 z ! il 3 E3 WER - BRME Ll
“ N “ B % B | EBEYsSEEER B w
o T F A | AR SREBRATE S
000000000000000000000000000000000000000000006000000)] g 000000000000 @[HZHHUUUUHU 7000000000000552210000000001000)¢ 00000000100000001 K=} P 5/
- //mﬁ 400 - 2z RER 300 ® L * ® =
JIVR g B B ® £ st =
500
fFImmEEELE AR




